CORNER ION, EDGE-CENTER ION, AND FACE-CENTER ION MADELUNG EXPRESSIONS FOR SODIUM CHLORIDE

A. DAVID BAKER, MARK D. BAKER, AND CHRISTOPHER R. H. HANUSA

ABSTRACT. Building on work of Tyagi (2005), we present expressions for calculating the corner ion, edge-center ion, and face-center ion Madelung constants for bulk sodium chloride crystals.

In [1], Crandall gives a historical overview of attempts to evaluate the Madelung constant for bulk ionic crystals. For sodium chloride he gave an expression for this in terms of the following series.

(1)
$$\sum_{x,y,z}' \frac{(-1)^{x+y+z}}{\sqrt{x^2+y^2+z^2}} \approx -1.74756459463\dots$$

The prime denotes that the sum is over all triples (x, y, z) that are not identically zero. This sum represents the charge on an ion in an infinite cubic lattice. In [2], Tyagi gives a representation of the Madelung constant that is the sum of a rapidly converging series and the fundamental constant

(2)
$$-\frac{1}{8} - \frac{\ln 2}{4\pi} - \frac{4\pi}{3} + \frac{1}{2\sqrt{2}} + \frac{\Gamma(\frac{1}{8})(\frac{3}{8})}{\pi^{3/2}\sqrt{2}} \approx -1.747564594\underline{78}\dots,$$

which alone agrees with the Madelung constant to ten decimal places.

Madelung constants are defined as single ion values, relating to individual ions in a crystal lattice [3]. Only in a bulk (infinitely large) crystal can all the single ion values be considered to be equal, calculable by evaluating Coulombic lattice sums. However, in any real (non-infinite) crystal the single-ion Madelung Constants for surface ions differ significantly from those within the bulk of the crystal. Taylor [4] shows that in a finite crystal, the error between the bulk Madelung constant and an ion's Madelung constant is inversely proportional to the distance between the ion and the closest face of the crystal.

In the spirit of Crandall's work the surface Madelung constants can also be determined using series expansions. In assembling these series it is important that each Coulombic interaction is counted once only. The determination of surface Madelung constants may be of practical interest as it as at the surface where many important and useful reactions occur.

We will consider three different situations related to the cubic lattice—corner ion, edge-center ion, and face-center ion. In this article, we wish the provide evaluated expressions for approximations to M_{orner} , M_{edge} , and M_{face} . As in Crandall's overview, we take a number to be "evaluated" when it can be written as a numerical combination of fundamental numbers including evaluations of Dirichlet *L*-series.

Key words and phrases. Madelung constant, corner ion, edge-center ion, face-center ion, NaCl.

A. D. Baker acknowledges the receipt of PSC-CUNY grant 69597-0038 which greatly supported his research efforts. M. D. Baker gratefully acknowledges funding from The Natural Sciences and Engineering Research Council of Canada. C. R. H. Hanusa gratefully acknowledges support from PSC-CUNY grants PSCOOC-40-124 and PSCREG-41-303.

We are interested in the three infinite sums

(3)

$$M_{\text{corner}} = \sum_{\substack{x,y,z \ge 0}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^2 + y^2 + z^2}}$$

$$M_{\text{face}} = \sum_{\substack{-\infty < x,y < +\infty \\ y,z \ge 0}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^2 + y^2 + z^2}} \qquad M_{\text{face}} = \sum_{\substack{-\infty < x,y < +\infty \\ z \ge 0}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^2 + y^2 + z^2}}.$$

Again, the prime excludes the case when x, y, and z are all zero. As discussed in Borwein, Borwein, and Taylor [5], it is not evident that the infinite sum of Equation (1) converges. An easy-to-read discussion of this non-eventuality is given by Burrows and Kettle in [6]. In fact, the authors of [5] revisit a proof of Emersleben which shows that when Equation (1) is summed by a method of expanding spheres, the sum in question diverges. As such, it must not be taken for granted that the sums in Equation (3) converge; we prove that they do in Theorems 8–10. Our argument incorporates lattice sums in three dimensions, two dimensions, and one dimension; define

(4)
$$M_3 = \sum_{x,y,z}' \frac{(-1)^{x+y+z}}{\sqrt{x^2 + y^2 + z^2}} \qquad M_2 = \sum_{x,y}' \frac{(-1)^{x+y}}{\sqrt{x^2 + y^2}} \qquad M_1 = \sum_x' \frac{(-1)^x}{\sqrt{x^2}}.$$

In addition, we will refer repeatedly to two convergence results from [5]; we state these results for completeness after a few definitions.

Definition 1. For every positive integer n, define three finite sums $S_3(n)$, $S_2(n)$, and $S_1(n)$ as follows:

$$S_3(n) = \sum_{-n \le x, y, z \le n}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^2 + y^2 + z^2}} \qquad S_2(n) = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^2 + y^2}} \qquad S_1(n) = \sum_{-n \le x \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt{x^2 + y^2}} = \sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^x}{\sqrt$$

Theorem 2 (Theorem 4 in [5]). $\lim_{n \to +\infty} S_3(n)$ exists.

Theorem 3 (Theorem 2 in [5]).
$$\lim_{n \to +\infty} S_2(n)$$
 exists

Remark 4. It is also well known that the doubly infinite alternating harmonic series $\lim_{n \to +\infty} S_1(n)$ converges and evaluates to $-2 \ln 2$.

The significance of these theorems is that the sums in Equation (4) converge when the terms in the sums are grouped in expanding cubes from the origin. Therefore, it makes sense to discuss these sums and calculate the appropriate limits. We use a similar strategy to prove the convergence of the sums in Equation (3).

As these latter sums are subsets of the three-dimensional lattice, it is natural that in addition to convergence results in the three-dimensional lattice, we will need convergence results for subsets of the two-dimensional lattices as well. We will make use of the following definitions.

Definition 5. For every positive integer n, define $S_2^+(n)$, S_2^{++} , $S_3^+(n)$, S_3^{++} , and $S_3^{+++}(n)$ as follows:

$$S_{1}^{+}(n) = \sum_{\substack{0 \le y \le n \\ 0 \le y \le$$

We use a convention that the number of plus signs in the superscript corresponds to how many coordinates are restricted to be non-negative.

Note that the alternating harmonic series $\lim_{n \to +\infty} S_1^+(n)$ converges and has limit $M_1/2 = -\ln 2$. In addition, the series $M_2 = \lim_{n \to +\infty} S_2(n)$ is studied in many places including [7]; we have

$$M_2 = 4\left(\sqrt{2} - 1\right)\zeta\left(\frac{1}{2}\right)L_{-4}\left(\frac{1}{2}\right) \approx -1.61554262671\dots$$

where $\zeta(s)$ is the Riemann zeta function, and $L_{-4}(s) = \sum_{x \ge 0} (-1)^x (2x+1)^{-s}$ is a Dirichlet L-function.

We prove each of the following theorems by repartitioning two halves of a lattice into a lattice of full dimension and a lattice of one smaller dimension. For example, in Theorem 6, summing over the upper half of the xy-plane and the lower half of the xy-plane is the same as summing over the whole xy-plane and over the x-axis.

Theorem 6. $\lim_{n \to +\infty} S_2^+(n)$ exists and equals $2(\sqrt{2}-1)\zeta(\frac{1}{2})L_{-4}(\frac{1}{2}) - \ln 2$.

Proof. We have that

$$S_{2}^{+}(n) = \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{\substack{-n \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{\substack{-n \le x \le n \\ -n \le y \le 0}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{-n \le x, y \le n}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{-n \le x \le n}^{\prime} \frac{(-1)^{x+0}}{\sqrt{x^{2} + 0^{2}}} \right]$$

$$= \frac{1}{2} \left[S_{2}(n) + S_{1}(n) \right].$$

The limit $\lim_{n \to +\infty} \frac{1}{2} [S_2(n) + S_1(n)]$ exists and equals $\frac{1}{2}M_2 + \frac{1}{2}M_1$. Averaging the exact values for M_2 and M_1 completes the proof.

Theorem 7. $\lim_{n \to +\infty} S_2^{++}(n)$ exists and equals $(\sqrt{2}-1)\zeta(\frac{1}{2})L_{-4}(\frac{1}{2}) - \frac{3}{2}\ln 2$.

Proof. We have that

$$S_{2}^{++}(n) = \frac{1}{2} \left[\sum_{\substack{0 \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{\substack{0 \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} \right]$$
$$= \frac{1}{2} \left[\sum_{\substack{0 \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{\substack{-n \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} \right]$$
$$= \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{x+y}}{\sqrt{x^{2} + y^{2}}} + \sum_{\substack{0 \le y \le n \\ 0 \le y \le n}}^{\prime} \frac{(-1)^{y}}{y} \right]$$
$$= \frac{1}{2} \left[S_{2}^{+}(n) + S_{1}^{+}(n) \right].$$

The limit $\lim_{n \to +\infty} \frac{1}{2} \left[S_2^+(n) + S_1^+(n) \right]$ exists and equals $\frac{1}{4}M_2 + \frac{1}{2}M_1$.

By a similar technique, we prove the convergence of the sums in Equation β).

Theorem 8. $M_{\text{face}} = \lim_{n \to +\infty} S_3^+(n)$ exists and is approximately equal to

$$M_{\text{face}} \approx -\frac{1}{16} - \frac{\ln 2}{8\pi} - \frac{2\pi}{3} + \frac{1}{4\sqrt{2}} + \frac{\Gamma(\frac{1}{8})(\frac{3}{8})}{2\pi^{3/2}\sqrt{2}} + 2(\sqrt{2} - 1)\zeta(\frac{1}{2})L_{-4}(\frac{1}{2}).$$

Proof.

$$S_{3}^{+}(n) = \frac{1}{2} \left[\sum_{\substack{-n \le x, y \le n \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x, y \le n \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x, y \le n \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x, y \le n \\ -n \le z \le 0}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x, y, z \le n \\ \sqrt{x^{2}+y^{2}+z^{2}}}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x, y \le n \\ \sqrt{x^{2}+y^{2}+y^{2}+0^{2}}}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} [S_{3}(n) + S_{2}(n)].$$

The limit $\lim_{n \to +\infty} \frac{1}{2} [S_3(n) + S_2(n)]$ exists and equals $\frac{1}{2}M_3 + \frac{1}{2}M_2$. Averaging the exact value for M_2 with the approximate value for M_3 given by Equation (2) completes the proof.

Theorem 9. $M_{\text{edge}} = \lim_{n \to +\infty} S_3^{++}(n)$ exists and is approximately equal to

$$M_{\text{edge}} \approx -\frac{1}{32} - \frac{\ln 2}{16\pi} - \frac{\pi}{3} + \frac{1}{8\sqrt{2}} + \frac{\Gamma\left(\frac{1}{8}\right)\left(\frac{3}{8}\right)}{4\pi^{3/2}\sqrt{2}} + 2(\sqrt{2} - 1)\zeta\left(\frac{1}{2}\right)L_{-4}\left(\frac{1}{2}\right) - \frac{1}{2}\ln 2\lambda$$

Proof.

$$S_{3}^{++}(n) = \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y, z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x \le n \\ 0 \le y, z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y, z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x \le n \\ -n \le y \le 0 \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x, y \le n \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x \le n \\ 0 \le z \le n}}^{\prime} \frac{(-1)^{x+0+z}}{\sqrt{x^{2}+0^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} [S_{3}^{+}(n) + S_{2}^{+}(n)].$$

The limit $\lim_{n \to +\infty} \frac{1}{2} \left[S_3^+(n) + S_2^+(n) \right]$ exists and equals $\frac{1}{4}M_3 + \frac{1}{2}M_2 + \frac{1}{4}M_1$.

4

Theorem 10. $M_{\text{corner}} = \lim_{n \to +\infty} S_3^{+++}(n)$ exists and is approximately equal to

$$M_{\text{corner}} \approx -\frac{1}{64} - \frac{\ln 2}{32\pi} - \frac{\pi}{6} + \frac{1}{16\sqrt{2}} + \frac{\Gamma(\frac{1}{8})(\frac{3}{8})}{8\pi^{3/2}\sqrt{2}} + \frac{3}{2}(\sqrt{2}-1)\zeta(\frac{1}{2})L_{-4}(\frac{1}{2}) - \frac{3}{4}\ln 2.$$

Proof.

$$S_{3}^{+++}(n) = \frac{1}{2} \left[\sum_{0 \le x, y, z \le n}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{0 \le x, y, z \le n}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{0 \le x, y, z \le n}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{-n \le x \le 0 \\ 0 \le y, z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[\sum_{\substack{-n \le x \le n \\ 0 \le y, z \le n}}^{\prime} \frac{(-1)^{x+y+z}}{\sqrt{x^{2}+y^{2}+z^{2}}} + \sum_{\substack{0 \le y, z \le n \\ \sqrt{0^{2}+y^{2}+z^{2}}}}^{\prime} \frac{(-1)^{0+y+z}}{\sqrt{0^{2}+y^{2}+z^{2}}} \right]$$

$$= \frac{1}{2} \left[S_{3}^{++}(n) + S_{2}^{++}(n) \right].$$

The limit $\lim_{n \to +\infty} \frac{1}{2} \left[S_3^{++}(n) + S_2^{++}(n) \right]$ exists and equals $\frac{1}{8}M_3 + \frac{3}{8}M_2 + \frac{3}{8}M_1$.

Just as in [2], the fundamental constants M_{corner} , M_{edge} , and M_{face} agree to ten digits with the true values, as shown here.

	true value	approximation
M _{corner}	$-1.34413444476\ldots$	-1.3441344478
$M_{\rm edge}$	$-1.59123605229\ldots$	$-1.59123605233\dots$
M _{face}	$-1.68155361067\ldots$	$-1.681553610\overline{75}\dots$

This paper describes the evaluation of Madelung constant for corner, edge-center, and face-center ions for bulk NaCl crystals using appropriate convergent series. The method produces an overall series sum for the entire crystal lattice by breaking apart and reassembling larger lattices. The values generated by this approach are in excellent agreement with literature values. The methodology can be extended to determine bulk Madelung constants for crystal types other than sodium chloride, and to nanoparticles, including determinations of the surface electrostatic mapping of crystals cleaved so as to expose various planes.

The authors would like to thank two anonymous referees for their comments and for pointing out reference [4].

REFERENCES

- [1] Richard E. Crandall. New representations for the Madelung constant. *Experiment. Math.*, 8(4):367–379, 1999.
- [2] Sandeep Tyagi. New series representation for the Madelung constant. Progr. Theoret. Phys., 114(3):517–521, 2005.
- [3] A. David Baker and Mark D. Baker. Madelung constants of nanoparticles and nanosurfaces. J. Phys. Chem. C, 113(33):14793–14797, 2009.
- [4] Keith F. Taylor. On Madelung's constant. J. Comput. Chem., 8(4):291–295, 1987.
- [5] David Borwein, Jonathan M. Borwein, and Keith F. Taylor. Convergence of lattice sums and Madelung's constant. J. Math. Phys., 26(11):2999–3009, 1985.
- [6] E. L. Burrows and S. F. A. Kettle. Madelung constants and other lattice sums. J. Chem. Educ., 52(1):58-59, 1975.
- [7] M. L. Glasser and I. J. Zucker. Lattice sums. Theor. Chem. Adv. Perspect., 5:67–139, 1980.

A. DAVID BAKER, MARK D. BAKER, AND CHRISTOPHER R. H. HANUSA

DEPARTMENT OF CHEMISTRY AND BIOCHEMISTRY, QUEENS COLLEGE (CUNY), 65-30 KISSENA BLVD., FLUSHING, NY 11367

E-mail address: abaker@qc.cuny.edu

DEPARTMENT OF CHEMISTRY, UNIVERSITY OF GUELPH, GUELPH, ONTARIO, N1G 2W1, CANADA *E-mail address*: mbaker@uoguelph.ca

DEPARTMENT OF MATHEMATICS, QUEENS COLLEGE (CUNY), 65-30 KISSENA BLVD., FLUSHING, NY 11367 *E-mail address*: Christopher.Hanusa@qc.cuny.edu *URL*: http://people.qc.cuny.edu/faculty/christopher.hanusa/

6